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[5615]-1001
F.Y. B.Com. (Semester - I)

COMPULSORY ENGLISH - I
(Success Avenue)

(2019 Pattern)  (Credit System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P2839

Q1) Attempt any three in about 100 words each : [15]

i) Compare and contrast the characters of Skvortsov and Olga.

ii) Who has brought a significant change in Lushkov's life? Explain.

iii) What are the forms of generation of Black Money?

iv) What does the nightingale do to get a red rose?

v) Comment on the ending of the story 'The Nightingale and the Rose'.

Q2) Attempt any three in about 100 words each : [15]

i) What has Muhammad Yunus done to alleviate poverty in Bangladesh?

ii) How has economics been interlinked with peace in the story of
Muhammad Yunus?

iii) What is the central theme of 'Up-Hill'?

iv) Describe the end of the journey in 'Up-Hill' with its implied meaning.

v) Why is a tranquil temperament considered as the most potent thing in
life?

P.T.O.

SEAT No. :

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
21

/1
1/

20
19

 0
9:

26
:0

5 
14

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
21

/1
1/

20
19

 0
9:

26
:0

5 
14

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
21

/1
1/

20
19

 0
9:

26
:0

5 
14



[5615]-1001 2

Q3) Attempt any two of the following : [20]

i) Ajay meets his friend Vijay after a long time. They discuss about their
career plans. Write a conversation using greetings and responses to
greetings.

ii) You have invited your classmate for a family function. Introduce him/her
to your cousin and vice-versa. Write a dialogue.

iii) What is a group discussion? Explain the important elements of a group
discussion.

iv) Develop a group discussion on the use of credit and Debit cards by
anticipating five arguments and probable responses from the participants.

Q4) Attempt any four of the following : [20]

i) Imagine that you are a candidate for a campus interview. Write answers
to the following questions :

a) Please tell us something about yourself.

b) Why do you want to join our company.

ii) How would you prepare for an interview?

iii) What are the interview techniques?

iv) Write two expressions to perform each of the following language
functions while making a presentation.

a) Making Opening remarks.

b) Giving an outline.

v) What is a 'Presentation'? What are the different kinds of presentation?

vi) How can audio-visual aids be used for effective presentation?
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Total No. of Questions : 4]

[Total No. of Pages : 4

[5615]-1002
F.Y. B.Com. (Semester - I)

FINANCIAL ACCOUNTING - I
(2019 Pattern)  (CBCS)

Time : 3 Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

P2840

Q1) A) Fill in the blanks. (Answer any five) [5]
i) The  ________ concept  assumes  business will continue its

operations indefinitely.

(Going, Concern, Consistency)

ii) In case of Piecemeal Distribution of Cash, ________ are paid before
external liabilities.

(Taxes, Partner's loan)

iii) Single Entry system is ________ system of accounting.

(Complete, Incomplete)

iv) Goods and Service Tax is a type of ________ Tax.

(Sales, Income)

v) Forensic Accounting  is _________ for all sole proprietorship firms.

(Not Compulsory, Compulsory)

vi) While distributing cash to the creditors__________ must be kept
aside before paying the creditors.

(Realization Expenses, Partners Capital)

vii) To locate the Opening Capital________ has to be prepared.

(Statement of Affairs, Trading Account)
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[5615]-1002 2

B) State whether following statements are true or false (Answer any five) :
[5]

i) There is no difference between Accounting Concepts and Accounting
Conventions.

ii) Principle of Full Disclosure is similar to Principle of Materiality.

iii) Single entry system is a scientific method of accounting.

iv) In Surplus Capital Method, cash is paid off to all the partners before
settling the other Liabilities.

v) In India Goods and Service Tax was introduced in 2005 in some
states.

vi) Under Composite Scheme no (Zero %) GST has to be paid.

vii) Sundry Debtors are converted into Bills Payable to have a legal
binding on the dues.

Q2) A, B and C are partners sharing profits and losses in the ratio 5 : 3 : 2. They
decided to dissolve their partnership with effect from 1st April, 2019. Their
Balance Sheet stood as follows : [15]

Balance Sheet as on 31st March 2019

Liabilities Amount Assets Amount

Capital : Land and Building 2,80,000

A 1,96,000 Plant & Machinery 1,42,800

B 1,21,800 Furniture 56,000

C 70,000 Stock 84,000

Reserve Fund 28,000 Debtors 1,59,600

Creditors 2,52,000 Cash 39,200

Income Tax 93,800

7,61,600 7,61,600
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[5615]-1002 3

i) Dissolution expenses were originally provided for Rs. 8,400.
ii) The assets were realized as follows :

April 2019   Rs. 1,82,000;    May 2019 Rs. 1,45,600;
June 2019   Rs. 1,96,000

iii) Actual dissolution expenses amounted to Rs. 7,000.
Prepare
a) The statement showing surplus capital
b) The statement showing distribution of cash

Q3) Mr. Mukesh maintains accounts on single entry system. Following is the
information provided by Mr. Rajesh for the year end 2018-2019. Prepare
Trading and Profit & Loss A/C and Balance sheet as on 31st March 2019.
Sundry Debtors A/c, Sundry Creditors A/c, Bills Receivable A/c and Bills
Payable A/c. [15]

Particulars  1st April 2018 31st March 2019
Land 7,00,000.00 7,00,000.00
Furniture 30,000.00 27,000.00
Machinery 20,000.00 18,000.00
Stock 20,000.00 15,000.00
Debtors 5,000.00 15,000.00
Creditors 15,000.00 20,000.00
Bills Receivable 12,000.00 -
Bills Payable 9,000.00 -
Investments 69,000.00 1,42,000.00
Mukesh's Capital 6,50,000.00 -
Outstanding wages - 1,000.00
Outstanding Salary - 25,000.00
Prepaid Insurance- - 5,000.00
Cash in hand - 63,000.00
Bank Overdraft - 2,27,900.00
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[5615]-1002 4

Additional Information Amount
Cash received from Debtors 8,000.00
Cash received from B/R 4,000.00
Cash paid to Creditors 5,000.00
Cash paid to B/P 6,000.00
Cash Purchase 4,00,000.00
Cash Sales 8,00,000.00
Debtors converted into BR 7,000.00
Creditors converted in BP 8,000.00
Discount received from Crs 5,000.00
Discount allowed to Drs 3,000.00
Bad debts 5,000.00
Credit Purchase return 6,000.00
Credit Sales return 15,000.00
Wages 2,000.00
Salary 1,00,000.00
Insurance 50,000.00
Printing 17,000.00
Mukesh's Drawings 1,34,900.00
Rent 7,000.00

Note : Depreciation is charged at 10% p.a on Furniture and Machinery.

Q4) Write short notes on: (any two) [10]

a) GST Returns.

b) Format of Sundry Debtors and Sundry Creditors Account,

c) Order of Payment under piecemeal distribution of cash,

d) Dual Aspect Concept
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Total No. of Questions : 8]

[Total No. of Pages : 6

[5615]-1003
F.Y. B.Com.  (Semester - I)

BUSINESS ECONOMICS (MICRO)
(2019 Pattern)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Questions No. 1 and 8 are compulsory.
2) Attempt any 3 questions from questions 2 to 7.
3) Figures to the right indicate full marks.
4) Draw neat diagrams wherever necessary.

P2841

Q1) A) Rewrite the following sentences by using proper substitute given in the
bracket (any seven). [7]

i) The nature of business Economics is not theorotical, but it is ____

(Descriptive, Business, Functional)

ii) The main objective of firm is to earn _________

(Money, Prestige, Profit)

iii) Price is treated as _________ variable.

(Independent, Complimentary, Internal)

iv) ______ refers to want satisfying power of a commodity.

(Consumer equilibrium, Utility, Utilisation)

v) Prof. Hicks, analysed the indifference curve in his _________ book.

(Wealth of Nation, Business Economics, Value and Capital)

vi) Other things remaining the same, the quantity of _______ decreasing
then in creasing in quantity demanded.

(Price, Utility, Export)

P.T.O.

SEAT No. :

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
23

/1
1/

20
19

 0
9:

32
:4

2 
14

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
23

/1
1/

20
19

 0
9:

32
:4

2 
14

CA
A

P0
11

66
1

14
.1

42
.1

31
.5

4 
23

/1
1/

20
19

 0
9:

32
:4

2 
14



[5615]-1003 2

vii) __________ means the amount of a product that would be offered
for sale at all possible prices during a given period of time.

(Demand, Supply, Utility)

viii) Factors of production is known as ________

(Output, Production Function, Input)

ix) In the short run phenomenon as the proportion of one factor is
increased this analysis is exhibits the ________

(Law of variable proportion, Law of Returns to Scale, Law of
Demand.)

B) State whether the following statements are False or True (any seven) [7]

i) Business Economics is useful in formulating business policies.

ii) In the short run, some cost as variable and in the long run, some
cost are fixed.

iii) Utility is not relatives as individual, time and place.

iv) Marginal utility of money is fixed.

v) Two indifference curve inter sect each other.

vi) The demand curve is alway's left to light which is shown down
word slope.

vii) In the case of substitutes goods cross elasticity is negative.

viii) Production function is givens information about input and output.

ix) In the one industry, exists to firms shown different-different internal
economics.

Q2) What meant by Business Economics? Explain Nature and Scope of Business
Economics. [14]

Q3) Distinguish between micro and macro economics. [14]
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[5615]-1003 3

Q4) What is indifference curve? Explain characteristics of indifference curve.[14]

Q5) What is consumer surplus? Explain the consumer surplus measurement. [14]

Q6) What is price elasticity of demand? Explain various types of price elasticity of
demand. [14]

Q7) Explain Internal and external economics of large scale of production. [14]

Q8) Write short notes (any two) : [14]

a) Firms

b) Types of Utility

c) Cross Elasticity of demand.

d) Average Production
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Total No. of Questions : 8]

[5615]-1003
F.Y. B.Com.  (Semester - I)

BUSINESS ECONOMICS (MICRO)
(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$. 1 d 8 Amdí¶H$ AmhoV.

2) àíZ H«$. 2 Vo 7 n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) gd© àíZm§Zm g‘mZ JwU AmhoV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.
5) Amdí¶H$Vm Agob VoWo gw~H$ AmH¥$Ë¶m H$mT>m.

P2841

àíZ 1) A) H§$gmVrb ¶mo½¶ n¶m©¶ {ZdSy>Z dm³¶ nwÝhm {bhm. (H$moUVohr gmV) [7]

i) ì¶mdgm{¶H$ AW©emómMo ñdê$n ho g¡Õm§{VH$ ZgwZ ........ Amho.

(MMm©Ë‘H$, ì¶mdhm[aH$, ’$bZmË‘H$)

ii) CÚmoJg§ñWoMm ‘w»¶ CX²Xoe .......... {‘i{dUo hm AgVmo.

(n¡gm, à{Vð>m, Z’$m)

iii) qH$‘V ho ........... Mb Amho.

(ñdV§Ì, nañnanwaH$, A§VJ©V)

iv) ì¶º$sMr JaO nyU© H$aÊ¶mMr dñVwÀ¶m A§Jr AgUmar eº$s qH$dm j‘Vm åhUOo
....... hmo¶.

(Cn^mo³Ë¶mMo g§Vmofm{Y³¶, Cn¶mo{JVm, Cn¶w³VVm)

v) àmo. {h³g ¶m§Zr Amnë¶m ......... ¶m J«§WmV g‘d¥Îmr dH«$ {díbofU ‘m§S>bo Amho.

(doëW Am°’$ ZoeÝg, {~{PZog BH$m°Zm°{‘³g, ìh°ë¶y A°ÊS> H°$nrQ>b)

vi) BVa n[apñWVr H$m¶‘ AgVm§Zm dñVwMr .........KQ>ë¶mda {VÀ¶m ‘mJUrV dmT> hmoVo.

(qH$‘V, Cn¶mo{JVm, {Z¶m©V)
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[5615]-1003 5

vii) {d{eï> doir {d{eîQ> qH$‘Vrbm {dH«o$Vo {d{eï> dñVwMo {H$Vr ZJ {dH«$sg V¶ma AgVmV
Ë¶m ZJg§»¶obm ............ åhUVmV.

(‘mJUr, nwadR>m, Cn¶mo{JVm)

viii) CËnmXZ KQ>H$m§Zm ............ Ago åhUVmV.

(àXmZ, CËnmXZ ’$bZ, AmXmZ)

ix) AënH$mimV CËnmXZmMo BVa KQ>H$ pñWa AgVmZm ~XbË¶m KQ>H$m§Mr g§»¶m EH$
EH$Zo dmT>{dë¶mZ§Va CËnmXZ ’$bZmda H$m¶ n[aUm‘ hmoB©b ¶mMo {díbofU .......
H$aVmo.

(~XbË¶m à‘mUmMm {Z¶‘, à‘mU ’$b {Z¶‘, ‘mJUrMm {Z¶‘)

~) MwH$ H$s ~amo~a Vo {bhÿZ dm³¶ nwÝhm {bhm. (H$moUVohr gmV) [7]

i) ì¶mdgm{¶H$ YmoaUm§Mr ‘m§S>Ur H$aÊ¶mgmR>r ì¶mdgm{¶H$ AW©emó Cn¶wº$ R>aUmam
{df¶ Amho.

ii) AënH$mimV H$mhr IM© ~XbVo AgVmV Va XrK©H$mimV gd© IM© {ñWa AgVmV.

iii) Cn¶mo{JVm ì¶{º$gmnoj, H$mbgmnoj d ñWbgmnoj ZgVo.

iv) n¡emMr {g‘m§V Cn¶mo{JVm {ñWa AgVo.

v) XmoZ g‘d¥Îmr dH«$ nañnam§Zm N>oXVmV.

vi) ‘mJUr dH«$ hm S>mdrH$Sy>Z COdrH$S>o Imbr CVaV OmUmam F$UmË‘H$ AmH$mamMm
AgVmo.

vii) XmoZ nañnanwaH$ dñVw§À¶m ~m~VrV N>oXH$ bd{MH$Vm F$U AmT>iVo.

viii) CËnmXZ ’$bZ CËnmXZmÀ¶m ~m~V AmXmZ d àXmZmMr ‘m{hVr XoV AgVo.

ix) EH$mM CÚmoJmV AgUmè¶m XmoZ CÚmoJ g§ñWm§À¶m A§VJ©V ~MVr doJdoJù¶m amhÿ
eH$VmV.

àíZ 2) ì¶mdgm{¶H$ AW©emó åhUOo H$m¶? ì¶mdgm{¶H$ AW©emómMo ñdê$n d ì¶mßVr ñnï> H$am.[14]
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[5615]-1003 6

àíZ 3) gwú‘ AW©emó Am{U g‘J« AW©emómVrb ’$aH$ ñnï> H$am. [14]

àíZ 4) g‘d¥Îmr dH«$ åhUOo H$m¶? g‘d¥Îmr dH«$mMr d¡{eï>ço ñnï> H$am. [14]

àíZ 5) Cn^mo³Ë¶mMo g§Vmofm{Y³¶ åhUOo H$m¶? Cn^mo³Ë¶mÀ¶m g§Vmofm{Y³¶mMo ‘mnZ ñnï> H$am. [14]

àíZ 6) ‘mJUrMr qH$‘V bd{MH$Vm åhUOo H$m¶? ‘mJUrÀ¶m qH$‘V bd{MH$VoMo {d{dY àH$ma ñnï>
H$am. [14]

àíZ 7) ‘moR>çm à‘mUmd[ab CËnmXZmÀ¶m A§VJ©V d ~mhç ~MVr ñnï> H$am. [14]

àíZ 8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) CÚmoJg§ñWm

~) Cn¶mo{JVoMo àH$ma

H$) ‘mJUrMr N>oXH$ bd{MH$Vm

S>) gamgar CËnmXZ CA
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Total No. of Questions : 5]

[Total No. of Pages : 4

[5615]-1004
F.Y. B.Com. (Semester - I)

BUSINESS MATHEMATICS AND STATISTICS - I
(2019 Pattern) (CBCS) (3 Credits)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of logarithmic table and calculator is allowed.
4) Use of graph paper is allowed.

P2842

Q1) a) Answer the following multiple choice questions by selecting correct option
(any five) : [5]

i) How much simple interest earned an `100 for 6 months at 8%  p.a.?

a) 8 b) 48

c) 4 d) 400

ii) If the payments of an annuity are made at the end of each period is
called.

a) annuity due b) immediate annuity

c) perpetuity d) status

iii) The purchase price of a perpetuity of ` 150 per year at 10% p.a. is

_______.

a) 150 b) 1000

c) 15 d)

iv) The number of shares if the total dividend at 8% on the shares with
face value ` 10 was ` 240 is ______.

a) 300 b) 250

c) 200 d) 350

P.T.O.

SEAT No. :
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[5615]-1004 2

v) If population is homogeneous, then ______ is better method for
sampling.
a) Simple random sampling b) Stratified
c) Systematic d) two stage

vi) Range in the data set 8, 10, 20, 9, 15, 10, 13, 28, is _______.
a) 28 b) 8
c) 20 d) 0.55

vii) The mode of the data 2, 8, 9, 9, 17 is  _______.
a) 10 b) 9
c) 3 d) 17

b) State whether the following statements are True or False. (Any Five) [5]
i) A simple interest is depends only on period.
ii) EMI means equated monthly installment.
iii) Preferred shares are guaranteed cash dividends.
iv) The mid point of class interval between 10 and 11 is 10.5.
v) For a sample at least 50% of population required.
vi) If a data a having coefficient of variation is 50 standard deviation is

20 then mean of data is 40.
vii) The median of the data 14, 9, 15, 8, 12 is 12.

Q2) Attempt any four of the following : [20]
a) How long will it take for ` 3000 to amount to ` 3300 at 4% p.a.

simple interest?
b) Find the difference between compound and simple interest on ̀  500 For

2 years at 10% p.a. (compounded yearly).
c) Find the sum will amount to ̀  4000 in 3 years at 6% compound interest.
d) Suresh purchase a car for ` 10,00,000 on installment basis under equal

24 monthly installments at 12% p.a. Find EMI by reducing method.
e) Find the amount of annuity of ̀  400 payable quarterly for 3 years at 16%

p.a.
f) Explain the terms sinking fund and simple annuity.
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Q3) Attempt any two of the following : [10]
a) What is dividend? Explain cash dividend and stock dividend.
b) Ramrao invested ` 2,50,000 in a mutual fund scheme with entry load of

1% and exist load 2% (for 3 years). He had to redeem all the units after 2
years when net asset value had dropped to ̀  2,30,000 In the mean while,
he has received a dividend of ` 15,000 what is his gain or loss percent?

c) Two companies have shares of 12% at 134 and 16% at 135. In which of
the shares would the investment be more profitable?

Q4) Attempt any two of the following: [10]
a) Define statistics. Write the scope of statistics in Industry and Economics.
b) What is data collection? Write the methods of data collection.
c) Explain SRSWOR and draw all possible SRSWOR of size 2 from the

observations 3, 4, 7, 9, 11 and 14,

Q5) Attempt any Four of the following. [20]
a) For the frequency distribution given below.

Daily sales
(in thousands Rs.) 10-20 20-30 30-40 40-50 50 & above
No.of shops 12 23 47 10 8

Find
i) Class width of second class.
ii) State open end class.
iii) State type of classification
iv) Form less than cumulative frequency distribution.
v) How many shops have sales less than 30,000?

b) Draw more than ogive curve for the following frequency distribution.
Marks  0-10 10-20 20-30 30-40 40-50 50-60
No.of students 3 9 15 30 18 5
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c) Compute the mode of the following frequency distribution.
Daily
Wages (`) 50-100 100-150 150-200 200-250 250-300 300-350
No.of Workers 5 15 25 18 12 5

d) Find the arithmetic and geometric mean of 2, 4, 8, 16, 32.
e) Two workers on the same job shows the following results over a long

period of time.

Worker A Worker B
Mean time of completing job   30 25

(in minutes)
Standard deviation  06   04

i) Which worker appears to be more consistent in the time he requires
to complete job? Why?

ii) Which worker is faster in completing the job? Why?
f) Define range and standard deviation. state the formula for each encase

of ungrouped data.
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[5615]-1006
F.Y. B.Com.  (Semester - I)

ORGANISATIONAL SKILLS DEVELOPMENT - I
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Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 and 8 are compulsory.
2) Answer any three questions from question No. 2 to 7.
3) Figures to the right indicate full marks.

P2844

Q1) A) Fill up the blanks. [7]
i) An _________ is a place where business is transacted and

professional services are rendered.
ii) ________ is a surround around the employees working in an

organisation.
iii) ________ is the systematic arrangement of people working together

towards a common purpose.
iv) _________ is a task of planning, co-ordinating, motivating the efforts

of employees towards the specific objectives.
v) ______ means converting hard-copy or non-digital records into

digital format.
vi) ________ is a printed piece of paper or cardboard used to collect

and transmit information.
vii) ______ is a way of work which moves from one employee to

another and one department to another.
B) True or False. [7]

i) An Office is an administrative center of business.
ii) An office location is an arrangement of equipments within the

available floor space.
iii) Line organisation is the oldest and most common type of

organisation.

P.T.O.
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iv) Record keeping is not a function of modern office.
v) Clarity of information is an important objective of designing office

form.
vi) Office manual does not contain printed instructions.
vii) Office work is primarily concerned with the records of the enterprise.

Q2) a) State the characteristics of modern office. [4]
b) Explain the functions of modern office. [10]

Q3) a) State the factors affecting office location. [7]
b) Explain the principles of office location. [7]

Q4) a) State the importance of office organisation. [4]
b) Explain the principles of office organisation. [10]

Q5) a) State the techniques of scientific office management. [7]
b) Explain the steps for installation of scientific office management. [7]

Q6) a) State the significance of records management. [4]
b) Explain the objectives of records management. [10]

Q7) a) State the problems in Smooth flow of work. [7]
b) Explain the suggestions for smooth flow of work. [7]

Q8) Write short notes (any two) : [14]
a) Importance of office environment.
b) Committee organisation.
c) Advantages of digitalisation of records.
d) Characteristics of office work.
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Total No. of Questions : 8]

[5615]-1006
F.Y. B.Com.  (Semester - I)

ORGANISATIONAL SKILLS DEVELOPMENT - I
(2019 Pattern)

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$. 1 Am{U àíZ H«$.  8 Amdí¶H$ AmhoV.

2) àíZ H«$. 2 Vo 7 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r ‘wi B§J«Or àíZ n{ÌH$m nhmdr.

P2844

àíZ 1) A) [aH$må¶m OmJm ^am. [7]
i) Á¶m {R>H$mUr ì¶mdgm{¶H$ H$m¶©nmanmS>br OmVmV Am{U ì¶mdgm{¶H$ godm {Xë¶m

OmVmV Ë¶m {R>H$mUmg .......... åhUVmV.
ii) g§KQ>Zo‘Ü¶o H$m‘ H$aUmè¶m H$‘©Mmè¶m§À¶m g^modVmbÀ¶m dmVmdaUmg ........ åhUVmV.
iii) gm‘w{hH$ CX²XoemZo H$m‘H$aUmè¶m bmoH$m§À¶m gwÌ~ÜX Ho$boë¶m aMZobm ..... åhUVmV.

iv) {d{eð> CX²Xoem§À¶m {XeoZo H$‘©Mmè¶m§À¶m à¶ËZm§Mo {Z¶moOZ g‘Ýd¶ Am{U g§àoaU
H$aÊ¶mMr H¥$Vr åhUOoM ........... hmo¶.

v) hmS>© H$m°nr ‘Yrb ‘mhrVr {S>{OQ>b ñdê$nmV ê$nm§V[aV H$aÊ¶mÀ¶m n«{H«$¶og ....
åhUVmV.

vi) ‘m{hVr Jmoim H$aUo Am{U nmR>{dÊ¶mgmR>r dmnaë¶m OmUmè¶m N>mnrb H$mJXmg
......... åhUVmV.

vii) EH$m H$‘©Mmè¶mH$S>yZ Xþgè¶m H$‘©Mmè¶mH$S>o, EH$m {d^mJmH$Sy>Z Xþgè¶m {d^mJmH$S>o
H$m¶m©Mm Omo AmoK dmhV AgVmo Ë¶mbm ......... Ago åhUVmV.

~) MwH$ H$s ~amo~a {bhm. [7]

i) H$m¶m©b¶ ho ì¶dgm¶mMo àemgH$s¶ H|$Ð Amho.
ii) CnbãY OmJoV H$m¶m©b¶rZ gmYZo d CnH$aUo ¶m§Mr Ho$bobr gw¶mo½¶ ‘m§S>Ur åhUOo

H$m¶m©b¶ ñWmZ{ZpíMVr hmo¶.
iii) aoIm g§KQ>Z hm g§KQ>ZoMm OwZm d gd©gm‘mÝ¶ àH$ma Amho.

3
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iv) ‘m{hVrMo OVZ ho AmYw{ZH$ H$m¶m©b¶mMo H$m¶© Zmhr.

v) ‘m{hVrMr ñnï>Vm ho H$m¶m©b¶rZ ànÌ V¶ma H$aÊ¶mMo ‘hËdmMo C{X²Xï> Amho.

vi) H$m¶m©b¶ ‘m{hVr nwpñVHo$V N>m{nb gyMZm§Mm g‘mdoe ZgVmo.

vii) H$m¶m©b¶ H$m‘H$mO ho àm‘w»¶mZo ì¶dgm¶ g§ñWoÀ¶m XâVamer g§~§{YV AgVo.

àíZ 2) A) AmYw{ZH$ H$m¶m©b¶mMr d¡{eï>ço {bhm. [4]
~) AmYw{ZH$ H$m¶m©b¶mMr H$m¶} ñnï> H$am. [10]

àíZ 3) A) H$m¶m©b¶mÀ¶m ñWmZ{ZpíMVrda n[aUm‘ H$aUmao KQ>H$ {bhm. [7]
~) H$m¶m©b¶mÀ¶m ñWmZ{ZpíMVrMm VËdo ñnï> H$am. [7]

àíZ 4) A) H$m¶m©b¶ g§KQ>ZoMo ‘hËd {bhm. [4]
~) H$m¶m©b¶ g§KQ>ZoMr VËdo ñnï> {bhm. [10]

àíZ 5) A) emór¶ H$m¶m©b¶ ì¶dñWmnZmMr V§Ìo ñnï> H$am. [7]
~) emór¶ H$m¶m©b¶ ì¶dñWmnZ ñWmnZ H$aÊ¶mVrb Q>ßno ñnï> H$am. [7]

àíZ 6) A) XâVa ì¶dñWmnZmMo ‘hËd {bhm. [4]
~) XâVa ì¶dñWmnZmMr C{X²Xï>ço ñnï> H$am. [10]

àíZ 7) A) gwairV H$m¶©àdmhmVrb g‘ñ¶m {bhm. [7]
~) gwairV H$m¶©àdmhmgmR>rÀ¶m Cnm¶¶moOZm ñnï> H$am. [10]

àíZ 8) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]
A) H$m¶m©b¶ n¶m©daUmMo ‘hËd

~) g{‘Vr g§KQ>Z

H$) XâVamÀ¶m {S>{OQ>bm¶goeZMo ’$m¶Xo

S>) H$m¶m©b¶rZ H$m‘H$mOmMr d¡{eï>ço
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[5615]-1007
F.Y. B.Com. (Semester - I)

BANKING AND FINANCE
Fundamentals of Banking - I
(2019 Pattern) (Credit System)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) Question No. 1 is compulsory.
2) Solve any three questions from Q. No. 2 to Q. No. 7.
3) Question No. 8 is compulsory.
4) Figures to the right indicate full marks.

P2845

Q1) A) Fill in the blanks (any 7) : [7]
i) NEFT is introduced in India in the year ______.

a) 2005
b) 2004
c) 2007

ii) Hindu Undivided family's account is _______ account holder.
a) individual
b) institutional
c) other

iii) Accepting deposit is _________ function of bank.
a) agency
b) general utility
c) primary

iv) Bank of England was founded in the year ________.
a) 1656
b) 1913
c) 1694

P.T.O.
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v) SWIFT was established in the year __________.
a) 1673
b) 1974
c) 1970

vi) ICICI Bank is __________ Bank.
a) Private
b) Public
c) Co-operative

vii) Imperial Bank of India was established in the year _____.
a) 1935
b) 1921
c) 1949

viii) No Frills Account is opened by ________ person.
a) rich
b) poor
c) middle class

ix) ________ is demand deposit account.
a) Fixed account
b) Current account
c) RD account

B) State whether the following statements are true or false (any 7). [7]
i) Banker's cheque is drawn by a bank customer.
ii) State Bank of India was established in 1955.
iii) Bank of Maharashtra is private bank.
iv) Flexi deposit is the combination of demand deposit and time  deposit.
v) Married Woman's account is institutional account holder.
vi) Demand Draft is a cheque drawn upon another branch of a bank.
vii) Banks offered high rate of interest on fixed deposit.
viii) Collection and payment of cheque is the primary function of bank.
ix) RBI introduced the RTGS system in March. 2004.
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Q2) a) State the origin of the word Bank. [4]

b) Explain the evolution of banking in Asia. [10]

Q3) a) Explain in brief the functions of accepting deposits of a bank. [7]

b) Explain in brief the functions of granting loans and advances of a bank.[7]

Q4) a) Explain in brief individual account holders of bank. [7]

b) Explain in brief institutional account holders of bank. [7]

Q5) a) What is SWIFT? [4]

b) Explain in brief the methods of remittance. [10]

Q6) a) Explain in brief evolution of banking in India. [7]

b) Explain in brief evolution of banking in Europe. [7]

Q7) a) Explain in brief agency functions of bank. [7]

b) Explain in brief general utility services of bank. [7]

Q8) Write  a short notes (Any Two) [14]

a) Closure of Account

b) Structure of Indian Banking system

c) Credit card and Debit Card

d) IMPS
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[5615]-1007
F.Y. B.Com. (Semester - I)

BANKING AND FINANCE
Fundamentals of Banking - I
(2019 Pattern) (Credit System)

(_amR>r ê$nm§Va)
doi : 3 Vmg]                      [EHy$U JwU : 70
gyMZm :- 1) àíZ H«$. 1 A{Zdm¶© Amho.

2) àíZ H«$. 2 Vo àíZ H«$. 7 ¶mn¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) àíZ H«$. 8 A{Zdm¶© Amho.
4) COdrH$S>rb A§H$  àíZm§Mr nyU© JwU Xe©{dVmV.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nmhmdr.

P2845

àíZ 1) A) [aH$må¶m OmJm ^am. (H$moUVohr 7) [7]
i) .............. ¶m dfu ^maVmV NEFT gwê$ H$aÊ¶mV Ambr.

A) 2005
~) 2004
H$) 2007

ii) qhXÿ A{d^³V Hw$Qw>§~mMo ImVo ho .............. ImVoXma AmhoV.
A) g§ñWmË‘H$
~) d¡¶{³VH$
H$) AÝ¶

iii) R>odr pñdH$maUo ho ~±Ho$Mo ............ H$m¶© Amho.
A) à{V{ZYr
~) gm‘mÝ¶ Cn¶w³V
H$) àmW{‘H$

iv) ~±H$ Am°’$ B§½b§S>Mr ñWmnZm ............... ¶m dfu Pmbr.
A) 1656
~) 1913
H$) 1694

4
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v) pñdâQ>Mr ñWmnZm ........... ¶m dfu Pmbr.

A) 1973
~) 1974
H$) 1970

vi) Am¶grAm¶grAm¶ ~±H$ {h ..............  ~±H$ Amho.

A) ImOJr

~) gmd©O{ZH$

H$) ghH$mar

vii) B§{n[a¶b ~±H$ Am°’$ B§{S>¶mMr ñWmnZm ............... ¶m dfu Pmbr.

A) 1935
~) 1921
H$) 1949

viii) eyÝ¶ {eëbH$ ImVo ho ............. ì¶³VtH$Sy>Z CKS>bo OmVo.

A) lr‘§V

~) Jar~

H$) ‘Ü¶‘ dJ©

ix) ............. ho ‘mJUr R>od Amho.

A) ‘wXV R>od ImVo

~) Mmby R>od ImVo

H$) AmdVu R>od ImVo

~) Imbrb {dYmZo MyH$ {H$ ~amo~a Vo gm§Jm. (H$moUVohr 7) [7]
i) ~±Ho$Mm J«mhH$ ~±H$g© YZmXoe H$mT>Vmo.

ii) ñQ>oQ> ~±H$ Am°’$ B§{S>¶mMr ñWmnZm 1955 gmbr Pmbr.

iii) ~±H$ Am°’$ ‘hmamï´> {h ImOJr ~±H$ Amho.

iv) âbo³Pr {S>nm°{PQ> ho ‘mJUr R>od Am{U ‘wXV R>odtMo EH${ÌH$aU Amho.

v) {ddm{hV ‘{hbm§Mo ImVo ho g§ñWmË‘H$ ImVoXma Amho.

vi) ‘mJUr YZmH$f© ho ~±Ho$À¶m Xþgè¶m emIoda H$mT>bobo YZmXoe Amho.

vii) ~±H$m ‘wXV R>odtda A{YH$ ì¶mO Xody H$aVmV.

viii) YZmXoemMr dgybr d àXmZ ho ~±Ho$Mo àmW{‘H$ H$m¶© Amho.

ix) Ama~rAm¶Zo ‘mM© 2004 ‘Yo RTGS gwê$ Ho$bo.
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[5615]-1007 6

àíZ 2) A) ~±H$ eãXmMr CËnÎmr gm§Jm. [4]

~) Am{e¶mVrb ~±H$m§Mr CËH«$m§Vr ñnï> H$am. [10]

àíZ 3) A) ~±H$m§Mo R>odr ñdrH$maÊ¶mMo H$m¶© g§{já ñnï> H$am. [7]

~) ~±H$m§Mo H$O} d A{J«‘o XoÊ¶mMo H$m¶© g§{já ñnï> H$am. [7]

àíZ 4) A) ~±H$m§Mo d¡¶{³VH$ ImVoXma g§{já ñnï> H$am. [7]

~) ~±H$m§Mo g§ñWmË‘H$ ImVoXma g§{já ñnï> H$am. [7]

àíZ 5) A) pñdâQ> (SWIFT) åhUOo H$m¶? [4]

~) n¡go nmR>{dÊ¶mÀ¶m nÜXVr g§{já ê$nmV ñnï> H$am. [10]

àíZ 6) A) ^maVmVrb ~±H$m§Mr CËH«$m§Vr g§{já ñnï> H$am. [7]

~) ¶wamonmVrb ~±H$m§Mr CËH«$m§Vr g§{já ñnï> H$am. [7]

àíZ 7) A) ~±H$m§Mr à{V{ZYr H$m¶} g§{já ñnï> H$am. [7]

~) ~±H$m§Mr gm‘mÝ¶ Cn¶wº$ godm g§{já ñnï> H$am. [7]

àíZ 8) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [14]

A) ImVo ~§X H$aUo

~) ^maVr¶ ~±H$ ì¶dñWoMr aMZm

H$) H«o${S>Q> H$mS>© Am{U S>o{~Q> H$mS>©

S>) VËH$mi ^aUm godm (IMPS)
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